
Epicykloida – predĺžená c > r >0, R >0

x = (R+r) cos rt
R − c cos (R+r)t

R , y = (R+r) sin rt
R − c sin (R+r)t

R , t∈R.

x = (R+r) cos ϕ− c cos (R+r)ϕ
r , y = (R+r) sin ϕ− c sin (R+r)ϕ

r , ϕ∈R.

x = 13r
7 cos 7t

6 −
5r
4 cos 13t

6 , y = 13r
7 sin 7t

6 −
5r
4 sin 13t

6 x = 13r
7 cosϕ− 5r

4 cos 13ϕ
7 , y = 13r

7 sinϕ− 5r
4 sin 13ϕ
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t∈〈0 ; 12π〉 ϕ∈〈0 ; 14π〉

R = 6r
7 , c = 5r

4

beerb@frcatel.fri.uniza.sk http://frcatel.fri.uniza.sk/ beerb

mailto:beerb@frcatel.fri.uniza.sk
http://frcatel.fri.uniza.sk/~beerb



